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Nome: Encontro: Data: Pontuagdo:
3487,5 % 0.0001 = 9463, 5 x 0.001 =
5778,5 % 0.01 = 9541 x 0.0001 =
9754, 3 x 0.0001 = 2937,3x0.01 =
7064, 8 x 0.01 = 2122, 1 x0.0001 =
4583,4 % 0.001 = 1197,4 x 0.01 =
9889, 1 x0.1 = 2451,2 % 0.0001 =
4002, 4 x 0.0001 = 1590, 1 < 0.0001 =
2841,6 x 0.01 = 6704,2 x 0.1 =
2020, 9 x 0.0001 = 2870,5 % 0.001 =
7238 x 0.0001 = 4524,2 % 0.0001 =
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Multiplique decimais por poténcias negativas de dez

Nome:

3487,5 % 0.0001 = 0.34875

5778,5x0.01 = 57.785

9754,3 % 0.0001 = 0.97543

7064, 8 x 0.01 = 70.648

4583,4 x 0.001 = 4.5834

9889, 1 x 0.1 =988.91

4002, 4 x 0.0001 = 0.40024

2841,6 x 0.01 =28.416

2020,9 % 0.0001 = 0.20209

7238 x 0.0001 = 0.7238

Encontro: Data: Pontuacao:

9463,5 x 0.001 = 9.4635

9541 x 0.0001 = 0.9541

2937,3x0.01 =29.373

2122,1x0.0001 = 0.21221

1197,4 x0.01 = 11.974

2451,2 x 0.0001 = 0.24512

1590, 1 x 0.0001 = 0.15901

6704,2 x 0.1 =670.42

2870,5 x 0.001 = 2.8705

4524, 2 x 0.0001 = 0.45242
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